FRACTION REVIEW
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2. Use fraction circles to illustrate and solve the following equations:
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3. Use a number line to illustrate and solve the following equations:
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4. Use rectangle areas to illustrate and solve the following equations:
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54 ¢ Chapter 1 - Fractions

32. A farmer has land measuring 6% km by 4% km,
If the land is divided into plots that are each
1% km?, how many plots would the farmer have?
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34. Solve the addition operation illustrated by the
diagram.

LCHM: 2x@B =24

W
(=
&2
=
(=R
5
(¢
Bv—»
(¢}
)
0
o
=
(¢
o
anr}
Qu

4=10% - 3% - 3%

STem =108 -3 -3%
= @ H = \j\/;
! ! = Y3 em

L~—10%cm———j
LM 2x2x3 =\

38. Pavel needed 12 hours to paint three bedrooms of
a house If the ﬁrst two bedrooms took 2 hours
and 4 hours, how many hours were needed to

paint the third bedroom?
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33. In a math class, 5 of the students have part time

jobs, and of those students are boys. If there are
40 students in the math class, how many are boys
with part time jobs?
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35, Solve the subtraction operation illustrated by the

diagram.

37. An average book size is 21~ cm X 24~ cm.
What is the measure of the penmeter of the book?
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39. Asurvey said Canadlans smoke cigareties, 31 are
overweight, and are both overweight and smoke.
What fraction of Canadians are neither of these?
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